PROBLEMS IN TEACHING. Lesson 3.
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1,

ne draft contains only the threading and
the tic-u», Then the problem arises how to find out the treadling, or
rather onc of the meny treadlings possible. Vhen we sneak about treadling
drafits we mist distinguish between drafts which give a square, symmctrical
pattern, and fancy trcadlings which can give any pattern at all. The nun-
ber of the forner is very limited.

Then we speal: about a squarc pattern we nay remember that the best
guarantec that we arc dealing vith a squarc is to have two diagonals,
which cross cach other at the ceater of the figurc at a right angle. The
treadling which will produce such diagorals is called BASIC treadling,
and there is only onc such treadling for cach threading draft. The way to
find it is to draw the diagonal first so that it would cover a scuare
space right under the threading draft. In fig.l we have a 1:35 diamond
twill draft.
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It often happons that
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Since each trecacdle is ticd to only

Koo X, XXX X o° one frame, the weft will go only
yxk JXox, TxT % - I over one warp end. This is casy
) - * - to check by making the drav-down
- - - - - - X of onc shot of weft on cach
- - - - - - - mm‘ X, treoadle, Then our dicgonal will
mm‘ X - be made of single squarcs of the
ﬁu" X graph paper. The first step then
o X in finding the treadling will be to
n X .
o X draw a diagonal from the unper
11 X . ‘ HE
. X right corncr to the lower left
n” x O corner of the draft. Doing it we
I X . i
e - do not look at the threading
n’ \ “x - draft at all oxcept to locate the
1 Fig,1 X . .
nm X beginning and the end of the
pig . A . .
e S dlagonal. After the diagonal is
ﬂm“ b dravn we can find out scguarc afte
e Xx‘ square which trecadle produced each
m b4 eleoment of the diagonal.

We loock up from the first
squarc (m') to the threcading draft and see that immediately above the
first squarc therc is a heddle on on framc 1. Since frame 1l is tied to
trecadle 4, then obviously treadle 4 is the first to be uscd. Conscquently
we malic a mark on the trecadling draft right below trecadle 4 and in linc
with the first square. The sccond squarc was made by a heddle on frame 2,
which is tied to treadle 3, and the wark comes under treadle 3 in line
with the sccond scuare, The third square: frame 3, treadle 2. The fourth:
frame 4, trcadle 1, and so on. :

then we complete in this way the whole treadling draft, we can
cormpare it with the threading draft, and we can sec that they arc iden-
vical, oxcept that the first is horizontal and the sccond vertical.
F.on this observation comes the expression Y'woven as drawvn in'. It is
a:r old term and neans literally: trcadling the samc as threading, ~In the
above cmample the torm Ywoven as drawn in' can be taken iiterally., But
wa, shall see JInter-on, that it is uscd often to nican that theoe treadling
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